EAUHULBI U3MepeHUA

YuyuTte/ib Ha4a/IbHbIX K1aCCOB
MBOY COLL N°64
Hasaposa T.B.




EAVHNLbI MACC!

AW 11
KHNOrPAMM 1 K1 = 1000

UEHTHEP. 111= 100N,
T, 17+ 100K
1, 16K







MEPbBI BECA
rpamm 7 2 = 7000 e

kuaorpamm 7 e = 7000 ¢
uentnep 7 ¢ = 700 rce
tonna 7 m = 7000 re

‘\‘



MHMMETP 1 WM
CAHTUMETP 1M = 10MM

NCLUMMETP 1.0 = 10 OM

M= 100 OH

TKM = 1000 M

2500
LIRS




MEPBI AAVIHBI

cautumerp 7 ctt = 70 st

aeuumerp 7 Gett = 70 cue
merp 7 e = 700 cn

kusomerp 7 st = 7000



EAUHULLLI NNOLLAAW

1COTKA" 100 M

KBAIPATHGIN

CAHTHMETP

KBADPATHGIW
QEUMNLETP

KBAIPATHBIW
METP
AP

[EKTAP
uwmubm

1.CM =100 W

1M = 100 C™
1M =100 IM

1A=100 M
1TA=100A
LKW 100 1A




MEPBI OB BEMA
UL 1 o’ = 1000 st

ACLUMETP
Kybuueckum /W" = 7000 cw’

xyﬁuqe?::g 7 e’ = /OOOW i

MEPDBDI IIAOILITA A1
caHTMMETP 7 caee = ZOO e

KBaasApaTHDbDIM

Aeummerp /W *= OO c«

KBaApPpaTHDbBIM

MeTp 7 e — /OOW"

KBaasApaTHBIM

ap 7 ez 7OCO e ”
rexrap 7 ece = ZO0OC =
IASETR S mw® = 700 o]



MEPBI XKMAKOCTEN  p

cantuautp 7 et = 70 wer
aemmautp 7 gt = 700 et
amtp 7t = 70 Gt

Aexkaautp 7 gt = 70 ¢

rektoautp 7 et = 700 .0
kuaoautrp 7 ret = 7000
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